
f(x) =
1

2
a0 +

∞∑
n=1

(
an cos

nπx

L
+ bn sin

nπx

L

)

an =
1

L

∫ L

−L

f(x) cos
nπx

L
dx

bn =
1

L

∫ L

−L

f(x) sin
nπx

L
dx







16∑
n=1

f(x)∆x



∫ b

a

f(x) dx = lim
N→∞

N∑
n=1

f(x)∆x



∫ b

a

f(x) dx = lim
∆x→0

N∑
n=1

f(x)∆x



f(x) =
1

2
a0 +

∞∑
n=1

(
an cos

nπx

L
+ bn sin

nπx

L

)
Let ωn = nπ

L

f(x) =
1

2
a0 +

∞∑
n=1

(an cosωnx+ bn sinωnx)



Let ωn = nπ
L

an =
1

L

∫ L

−L

f(x) cosωnx dx

bn =
1

L

∫ L

−L

f(x) sinωnx dx



1. eiθ = cos θ + i sin θ

2. e−iθ = cos θ − i sin θ

(1) + (2) eiθ + e−iθ = 2 cos θ

(1)− (2) eiθ − e−iθ = 2i sin θ



cos θ =
1

2

(
eiθ + e−iθ

)
sin θ =

1

2i

(
eiθ − e−iθ

)



cos θ =
1

2

(
eiθ + e−iθ

)
sin θ =

1

2i

(
eiθ − e−iθ

)
= − i

2

(
eiθ − e−iθ

)



∫ 1

0

x2 dx =
1

3∫ 1

0

y2 dy =
1

3∫ 1

0

v2 dv =
1

3∫ 1

0

ω2 dω =
1

3



The following integrals all have the same value:∫ 0

−∞
f̂(v)eivx dv

∫ 0

−∞
f̂(ω)eiωx dω



f(x) =

∫ ∞

0

f̂(ω)eiωx dω +

∫ 0

−∞
f̂(v)eivx dv

=

∫ ∞

0

f̂(ω)eiωx dω +

∫ 0

−∞
f̂(ω)eiωx dω

=

∫ ∞

−∞
f̂(ω)eiωx dω



Fourier Transform Pairs

f̂(ω) = F(f(x)) =
1

2π

∫ ∞

−∞
f(x)e−iωx dx

f(x) = F−1(f̂(ω)) =

∫ ∞

−∞
f̂(ω)eiωx dω



Fourier Transform Pairs - Alternate

f̂(ω) = F(f(x)) =

∫ ∞

−∞
f(x)e−iωx dx

f(x) = F−1(f̂(ω)) =
1

2π

∫ ∞

−∞
f̂(ω)eiωx dω



Fourier Transform Pairs - Alternate

f̂(ω) = F(f(x)) =
1√
2π

∫ ∞

−∞
f(x)e−iωx dx

f(x) = F−1(f̂(ω)) =
1√
2π

∫ ∞

−∞
f̂(ω)eiωx dω



Fourier Transform Pairs - Zill and Wright

f̂(α) = F(f(x)) =

∫ ∞

−∞
f(x)eiαx dx

f(x) = F−1(f̂(α)) =
1

2π

∫ ∞

−∞
f̂(α)e−iαx dα


